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1. Find the value of the shunt to be connected across a galvanometer of resistance 20 ohm so that 1%
the main current passes through the galvanometer.

(a) 2.02 ohm (b) 3.02 ohm (c) 0.202 ohm (d) 20.2 ohm
Ans : (c) 0.202 ohm

2. The resistance of an ammeterRsFind the value of the shunt required to increase the range of the
ammetern times.

R R R
(@ - b) = ©) -7 (d) nR
_ R
Ans. : (b)n—_1
3. Shunt resistance is always —
(a) greater than galvanometer resistance gimaller than galvanometer resistance
(c) equal to galvanometer resistance (d) none of these

Ans. : (b) smaller than galvanometer resistance

4. When a resistance of §2is connected with a cell of emf 1\§ 0.1 A current flows through the resis-
tance. Internal resistance of the cell is

(@) 1o (b) 30 (c) 50 (d) 1.5¢9
Ans. : (b) 3¢

5. A current of 0.1A flows through a 1% resistance when it is connected to a cell of emf\l.5he
internal resistance of the cell is
(@) 1la (b) 30 (c) 5a (d) 159
Ans. : (b) 3¢

6. A cell of emfE and internal resistanaeis connected to an external resistafiteThe variation of
potential dropV across the resistanétas a function oR is shown by the curve marked as

r

V=E 1

V (volt)

(@) 4 (b) 1 (c) 2 (d) 3
Ans. : (c) 2
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A shunt of resistancedl is connected with a galvanometer of resistanceglO@/hat part of the main
current will flow through the galvanometer?

1 1 1 1
(a) ) (b) 100 (c) 101 (d) 98

1

Ans. : (c) T

A galvanometer of resistanéeis connected to an electric circuit. The main current in the circtit is

times the maximum current that the galvanometer can withstand. The maximum value of the shun

resistance that should be used across the galvanometer is
R R
(@) kR (b) kK-1)R © d) 3

Ans. : (d) o

Three voltmeters, all having different resistances, are joined as shown in figure. When some potentia

difference is applied acro$3and Q, their readings ar®,, V, andV, respectively. Then

\% V,

1 2

(@ Vv, =YV, (b) V, 2 V,+V, eV, +V,=V, (d) V,+V,>V,
Ans. : (cV,+V,=V,

The internal resistance of a 2/Icell which gives a current of 0& through a resistance of g0is
(@) 0.2q (b) 0.5¢q (c) 0.8q (d) 1.0q

Ans. : (b) 0.5,

The cell has an emf oV2and the internal resistance of this cell is®,lit is connected of resistance of
3.9q, the voltage across the cell will be

(a) 1.9% (b) 1.5/ (c) v (d) 1.8¢
Ans. : (a) 1.9%

Consider first two cells in series as shown in figure the potential difference between the teékraimeéls
C of the combination is
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Consider a parallel combination of the cells in the figure.

eq
I
o=+ |9
C— A I C
The potential difference across its terming/sand B,
(@) V =€gq ~Ifeq (b) V =€, -1r, (C) V=2cq Ity (d) V =¢ -2l

Ans. : (@)V =égq ~ ITeg

Is it possible that any battery has some constant non-zero value of emf but the potential differenc
between the plates is zero?

(a) Not possible

(b) Yes, if another identical battery is joined in series

(c) Yes, If another identical battery is joined in opposition

(d) Yes, possible, if another similar battery is joined in parallel

Ans. : (c) Yes, If another identical battery is joined in opposition

In the adjoining figure, the reading of an ideal voltmeter (v) is zero. Then the relation betweand, r
r,is:

V)
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r r,
R
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i)
(@ R=p—r, R=g-r, (@R=r+r, (@ %=,

Ans.: (b)R=r-r,
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